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PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
Find the nt derivative of xZe®*.
x%e —an n eug eumssQspmas TS,
State Euler’s theorem on roBomobm.oc.m functions.

@@uUySgnar sriyseafier Wgnear ulofer Conpsmss

FM)S.
If y = -2 erobmroi_ermeamlgfv.@u_:.
x+y ox oy

xy .. ou  -Ou
= afleéd ¥ —+ y— = .
u a+v.ﬂ L Q&. u erem fmieys

If * + y® + 3axy = 0 then find Mlv.
%

2% + ® + Baxy = 0 arafled .MIQ —OWE SIS,
x

Y Bsc - Joiaf .m @H.ﬁ&c&
(MY degmay 0F Q0

10. Obtain the equation of an ellipse whose focus is

11.

12.

13.

the point (3,1), whose directrix is the line

X-y+6=0 wummuw.
(B1) erémp yeraflenw @eAwiorseyd x -y + 6 = 0
eTenm Qa:ﬁs.asm: QusGeuemrurseyd EBEE. e HW

eranayd  Aemewr @@ Hereul L sl ST L

&S,

Find the condition for the line Ix + my+n=20 to
2 - .2

touch the ellipse R i 1.

a®  b?
| . LR
Ix+my+n=0 eep Gan@ Q|N+~V|N
Berau’ L ses AprReusparar Hlupsmanenw srars.
In the hyperbola 4x% - 9y® = 36 , find the foci and
e.

=1 eremp

4x* ~ 9y = 36 e  9F  uyametwiden
Gelwkisamenyb e —enwiwb srawrs.
PARTB — (5 x5=25 Bmu.wmv
Answer any FIVE questions.
If  y=acos(logx) + bsin(log ), -that
2%y, +xy, +y=0.

prove

y = acos(log x) + bsin(logx) erafler x2y, + xy, +
Y = 0 aren fmieys.
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nc;o, Co- 04%»936\.

o(x, y) .
o(r, 6)

a(x, y)
o(r, 6)

If x=rcos@; y =rsin@, find

x =rcosf; y = rsin @ erafleb MG HTEHTS.

Find the vertex and focus of the parabola.
4y —20x -8y +39=0.

4y® — 20x — 8y + 39 = 0 ereip UTeueraTWSS 6T
een LD GeNwsHeans sewr (L.

Find the minimum value . of

%3 +5y* —6x +10y +12.

x® +5y% — 6x + 10y + 12

—én  1558my  wHleLis
ST ‘

Find the equation of the parabola whose focus is
(1,-1) and the directrixis x + y + 7= 0.

1-1) eemp @elwsempud x+y+7=0 e
Quégumrouud Qarar_ @m Urumetwugher
FLOEMUTL_6NL_& &STeHTS.

Find the pole of the line Ax+ By +C =0 with
respect to the parabola y? = 4qx .

Ax+By+C=0 Camliger  gireusms

y* = 4ax eremp LjeueeTLSMSL Qurmss srems.
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14.

15.

16.

17.

If z =e*(xcosy — ysin y) show that
2 2
Ox oy
g o’z 8%z . )
z=e*(xcosy - ysin afledd —— +—==0 erem
( ¥ sin y) rere
Hpieys.
Ifu=xyl+y?;x=te¥;y=e gmbﬁb@%.
u=xyl+y*x=te®;y=e* aafid w@. -

wHlenLs SrerTs.

If x+y+z=u; Y+2=uv; z=uvw prove that
- ,

AR..V&NV "gnc.
A(w, v, w)
X+y+2z=u

ox,9,2) _
) u'v erem flmeys.

Yy +2z=uy 2 = uvw erefled

Find the maxima and minima of the function
2x° - 8x% ~ 36x + 10.

2x° - 3x% — 36x + 10 erenp ammder SUGALE wHYIb
B&8my wHliysmers: srams.
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18.

19.

20.

24.

2. 2

If the Chords of the oEﬁmm .xln + Wnl =1 touches
. )

RN 2

—+ hv.lw. =1, find the locus of their poles.

a* p

x? g

el + res =1 eréim Bereul L gdle [BITERT&GT

P.N ..V.M , .

sl m =l-ou Qgr@fengy aafld; o

simeurisafler BluliLitangamus snars.

In the hyperbola 16x% -9y% =144, find the

equation of the diameter conjugate to the diameter
x=2y. .

ey  LLF5HDG QevewmellLsHer

x =2y
FOSTLIM_GhL 16x% - 9y% =144 erem
Siflureueenus i@ srams.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

prove  that
A_. - Rmv..% n+2

If y= mFAS gin™ av ~ then

@-2)y, -2y, +m?y=0 and

@n + Dxy,,, + ASN - :NV.S., =0.

y = sin(msin™ x) ereflé> 1 - =%), [ xy, + mly =0

SBB_BAH - va.zim -@2n+ axy,,, + Asu = :JQ; =0

ore Flmeys. ,
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The asymptotes of a hyperbola are parallel to
2x + 3y = 0 and 3x - 2y = 0. Its centre is at (1, 2)

and it. passes through the point (5,3). Find its
equation and its conjugate.

26 Sfurumetugfear  Asraas@sTGCsTHser
2x+3y=0 wvHgw 3x-2y=0-&5 QeaTurs
edranan. SigeienLw ewwid (1,2) whmd g (5,3)
erenp erafl auflumrseb QedaifnAseid <igaenw
ST LD igen Genemmufen FETLIM i_ujlb
BTG E.
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21.

22.

23.

If u=+x? +y2 +22 show that
MRNMW+NMQN%QWN = 0.

erasiled MRN..MMIN+
w.M.,U.v.N mwm%u =0 QQEEEQ.

If J, is the jacobian of u(x,y) and v(x,y) and J J
is the Jacobian of x(u,v) and y(u,v) then show

“that J,J, = 0.

J, aerugl u(x,y) wpgid v(x, y) —efer QuGamawicr
wpgd  J, aemg  xu,v) wombd Y, v)-afdr
QggCamAwen eraficvJ,J, = 0 eram Himieys.

Show that the locus of vowam such that two of the
three normals drawn from there to the parabola

y? = 4ax coincide is 27ay?® = 4(x - 2a)°.

y? = dax eranp LFeUemeaTUISSDE uemurIL@LD epey
Qsmigsgisalier Qram® GurEpgioTy 2 dreT@gaic
sluyarafisafier ubuurens 27ay® = 4(x -~ 2a)° erar
Poays.
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